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The objective of this research is to compare die confidence interval estimation methods for coefficients of
a logistic regression model by comparing their confidence levels and lengths of confidence interval, the estimation
methods under consideration in this research are as follows:

1. Both pointestimator and variance of estimator are estimated by Weighted Least Square method (WW)

2. The point estimator is estimated by Maximum Likelihood method whereas the variance of estimator is
estimated by Fisher information method (MF)

3. The point estimator is estimated by Maximum Likelihood method whereas the variance of estimator is
estimated by Tacknife method (MJ)

Only one explanatory variable is used in this research and is divided into k levels ; k varies from 3,5 7
and 10 levels. In each level ti<C sample size of 15 , 20 , 30 140 and 50 are used.. Tile defined confidence coefficient
value are equal 9001- 195% and 99%. The parameter of/?Gis fixed at 0, 1 or -2 while the parameter of ftl varies
by increasing or decreasing 0.5 from 1. The data is obtained through simulation using Monte Carlo technique and
repeating 500 tune for each case.

The conclusions of this research are as follows :

1. The confidence levels.

The confidence levels of all estimation methods are not lower than the given confidence coefficients
(190% ,95% ,99% ) for all number of levels of explanatory variable 1 J sample sizes , and all parameters.

2. The average length of confidence interval.

WW method gives shortest average length of confidence interval for all sample Sizes and
-p,=0ad-21<p. <19 ;k=3,5,7.10 or
-p0—1,-2 ad 24 ), 07:;k=3,5,7,10

MF method gives shartest average length of confidence interval for all sample Szes and
-pn Bad /A<220r )>2 ;k=3, 5,7 or
-p0= 112 ad px<-25 ; k=517, 10or pxi 08 tk=3,5,7,10

MJ method gives shortest average length of confidence interval for all sample Sizes and
-pn -0and /7, <22 or p, >2;k = 10 or
-p0 ‘L 2adp. .25 k=3
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